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QUIZ MASTER

Grand Quiz(MTH202)

100% correct solution.
For more information you can visit my channel and for
any type of help related to CS619 you can contact me.

YOUTUBE CHANNEL:
https://www.youtube.com/channel /UCINsFwDiB62SValCcPDZbRQ/playlists

FACEBOOK GROUP:
https://www.facebook.com/groups/923887914750307
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MTH202:Grand Quiz Quiz Start Time: 02:13 AM. 30 Decen

Question # 1 of 30 ( Start time: 02:13:07 AM. 30 December 2020 ) Tota

Let f and g be two functions defined by f(z) =z + 2 and g(z) = 2z + 1. Then the composition of f and g

Select the correct option ® Reload Math Eq
o i o

&
,\9
Q

2z +5

2% + 5z + 2
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MTH202:Grand Quiz

Question # 2 of 30 ( Start time: 02:13:30 AM. 30 December 2020 }
Let R={{1.2). (3. 4). (5. 6). (7. 8)}. Range of the inverse of the relation iz

V

Select the correct option
{1.3.5. 7}

. &

{2.4.6, 8}

1.2.3. 4} le

15, 6.7, 8}

O
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MTH202:Grand Quiz

Question # 3 of 30 { Start time: 02:13:42 AM. 30 Decen

The set Z of all integers is countable.

WV

Select the correct option

True

3
() 0
N

F%%

P A A AL AL AT A A A A e e e el el el o all el e N ol ol ol ol o o o o o o o o o o ol o o e o e
T T e T T T T T e e e T T2 T T T T T T T S T Ve Ve S 20 20 Y20 M Vo W e 2 2 e R P P % %0 % B R 9

PPPPLLLLLLLLLL LSS LSS LSS LSS LSS LSS LSS LS LSS LLLS PSSP PP



\\\\\\\\\\N\\\\N\‘\‘\‘\‘\‘\‘\\‘\‘\\‘\‘\\\\\\\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘V>

MTH202:Grand Quiz Quiz 5

Question # 4 of 30 { Start time: 02:13:57 AM, 30 December 2020 )

In the representation of an irreflexive relation using a matrix. all its diagonal entries will be .

Select the comect option
0
F %
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MTH202:Grand Quiz

Question # 5 of 30 { Start time: 02:14:11 AM. 30 December 2020 )

Let p = | am hard working. g = | am intelligent. Then ™ p * g means ———

Select the correct option

I am hard warking AND | am intelligent.

O

I'am NOT hard working BUT | am intelligent. %
\z\
)

I'am NOT hard working OR | am intelligent.

I arm hard warking AND | am Nwent.
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MTH202:Grand Quiz Quiz Stan

Question # 6 of 30 { Start time: 02:14:25 AM, 30 December 2020 )

If a set A contains n elements then the number of elements in its power set P(A) is

Select the correct option V
2(n)
o O

O Qﬁ\’ "

2 T
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MTH202: Grand Quiz Quiz Star

Question # 7 of 30 { Start time: 02:14:42 AM, 30 December 2020 )

Which of the following is true for the following sequence?

Cp =1— (—1)" forallintegersn=0

Select the comect option

Ifniseven, then Cn =2 and if nis odd, then Cn=0

If nis even, then Cn =0 and if n is odd, then Cn =2 i

F

Aol

If nis even, then Cn =2 and if nis odd, then Cn =]

Ifniseven thenCn=1andifnis GQ% 0
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MTH202:Grand Quiz

Question # 8 of 30 { Start time: 02:14:56 AM, 30 December 2020)
LetA={1.2.3 4}and R={(1,1}(2,2)(3.3)(4.4)} then R i3

Select the correct option V

Transitive

O 0(9
TS

Options a.b.and c all true

b d
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MTH202:Grand Quiz

Question # 9 of 30 ( Stari time: 02:15:09 AM. 30 December 2020

If A-B=A which of the following staterment is true?

Select the correct option E

A is the subset of B

O

O B anﬂ

=B

All the given statements are false.
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MTH202:Grand Quiz

Question # 10 of 30 ( Start time: 02:15:24 AM. 30 December 2020 )
IfA={1.2 3}lisasetand R={(1.2).(2.2).(2.1)}isarelationon A Ris

Select the correct option

\
Transitive %%
O

Symmetric
b J
Reflexive

O

Maone of these
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MTH202:Grand Quiz Quiz Star

Question # 11 of 30 ( Start time: 02:15:41 AM, 30 December 2020 )

The converse of the conditional statement 'If | live in Lahore, then | live in Punjab’ is -——-- =

V

Select the correct option

If | do Mot live in Lahore, then | live |

O

If 1 do Mot live in Lahgre, o Not live in Punjab.

O

If | live in en | do Mot live in Lahare.

If | live in Punjab, then | live in Lahore.
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MTH202:Grand Quiz

Question # 12 of 30 ( Start time: 02:16:10 AM. 320 December 2020

Every set can be represented in tabular form.

X

Select the comrect option

o Q¥

False

®
ko d
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MTH202:Grand Quiz Quiz

Question # 13 of 30 ( Start time: 02:16:24 AM, 30 December 2020 )

The function defined from Z to Z as f(z) = (ITI{IE] is not well defined because. .

Select the correct option V
Function gives imaginary value%%

Each input has two

Func fined at x=2 but not defined at x=-2

Function is not defined at x=-2 and x=2

b
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MTH202:Grand Quiz

Question # 14 of 30 ( Start time: 02:16:40 AM. 30 December 2020 )

Let X ={1.5.9} and ¥ = {3.4.7}. Define a function f from X to % such that
f(1)=7
fi(5)=3
fi%) =4

then which one of the following statement abDVN?

N

Select the correct option

f is not one-to-one
fis not @

f is both one-to-one and onto
b d

f is neither one-to-one nor onto
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MTH202:Grand Quiz Quiz £

Question # 15 of 30 ( Start time: 02:16:54 AM. 30 December 2020 )

Which of the following is always true for the matrix representation of a symmetric relation?

Select the comect option

Matric has always [ in its diagonal entries

o %&

Matrix is equal to its transpose.

. G
O
N

Matrix has always 1 in its diagonal entri

0 %

Matrix is singular
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MTH202:Grand Quiz

Question # 16 of 30 ( Start time: 02:17:17 AM, 30 December 2020 )

Associative law of union for three sets is

Select the correct option

AU(BuC)=(AuB)uUC ‘%I
\z\
-

An(BncC)=(AnB)r

O

AU(BnNCQC) . V(AU B)
O

Mone of these
O
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MTH202:Grand Quiz

Question # 17 of 30 { Start time: 02:17:24 AM. 30 December 202

In general,
ni=n{n-1)! for all integer n.

V

Select the correct option

o 0(9
%Q
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MTH202:Grand Quiz

Question # 18 of 30 ( Start time: 02:17:35 AM, 320 December 2020 )

Let A={1.2.3.4} and define the following relation on A Then
R={(1.3).(2.2}. (2.4). (3.7). (4.2)} is

Select the correct option
H is Symmetric i

- (©)
SO

His ﬁ.ntlsym

.
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MTH202:Grand Quiz

Question # 19 of 30 ( Start time: 02:17:53 AM. 30 December 2020

if f is a bijective function then (f ' (f(x))) isequalto .

Select the correct option

ol Q\é’—

&

None of these
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MTH202:Grand Quiz

Question # 20 of 30 ( Start ime: 02:18:12 AM, 20 Decem
p <= q Is logically equivalently to -—-—

Select the correct option
pXOR g §
“Epi$<ESI'

O
“pACORqg)
r
-
“pvq
O
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MTH202:Grand Quiz Quiz Start Time: 02:13 AM. 30 December

Question # 21 of 30 ( Start ime: 02:18:26 AM, 30 December 2020 ) Total Ma
Let A={0.1,2}and R={(02), (1,7}, (2,0)} be a relation on A. Then which of the following ordered pairs are needed to make it

reflexive. V

Select the correct option
(0.0) and (2.2)
@
L
(0.0) and (0.2) \x

(2.0) and (2.2)

(2.0) and (0.2)
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MTH202:Grand Quiz Quiz Start Time: 02:13 A

Question # 22 of 30 ( Start time: 02:15:44 AM, 30 December 2020 )

Let A be subset of universal set 7 then A 1 A" =

Select the correct option m

O QVAH A"

r
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MTH202:Grand Quiz

Question # 23 of 30 ( Start time: 02:13:58 AM, 30 December 2020
Let R be a binary relation on a set A. If R is anti %metricthen

N3

Select the correct option
Inverse of R i@c

Inverse of R is anti symmetric
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S 4
S 4
S 4
2: MTH202:Grand Quiz 5
S 4
S Question # 24 of 30 ( Start time: 02:19:13 AM. 30 December 2020 ) 1
2: The inverse of the statement 'If it is pleasant outside, then | go to the park’ is ——— 5
¢ \z\i 2
S 4
S 4
2: Select the correct option 5
S Ifitis NOT pled ide, then | ga to the park. 1
S 4
$ e ¢
S

2 sant outside, then | do NOT go to the park. 5
S O 4
? 4
Q <
> Ifitis NOT pleasant outside, then | do NOT go to the park. <
$ :
g b s
S 4
S 4
> If | go to the park. then it is pleasant outside. £
S 4
S O 4
S 4
$ 4
S 4
S 4
S 4
S 4
S 4
S 4
> £
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2: MTH202:Grand Quiz 5
S P4
2: CQuestion # 25 of 30 ( Start time: 02:19:27 AM, 30 December 2020 ) 5
S The inverse of the statement 'If it is hot day, then | am at home' is -——--—- 1
S P4
S 2
S P4
S P4
S P4
S P4
2: Select the correct option 5
Ifit is hot. then | am Not at home.
S P4
3 O 5
S 2
2 Ifitis Mot hot. then | am Not at home. ?V 5
3 0 Q> ;
> 2
> : ;9 <
> iti <
) O If it is Mot hot, then | am at home. (
D <
> <
2 If | am at home, then it is hot. x $
g o N 7
> 4
> 4
> <
> 4
> <
> <
> <
> <
» Y 4
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MTH202:Grand Quiz Quiz Ste

Question # 26 of 30 ( Start time: 02:19:41 AM. 30 December 2020 )

If f and g are two one-to-one functions.then their composition that is gof is one-to-one.

Select the correct option i

True
0
b d <: ~

P A A AL AL AT A A A A e e e el el el o all el e N ol ol ol ol o o o o o o o o o o ol o o e o e
T T e T T T T T e e e T T2 T T T T T T T S T Ve Ve S 20 20 Y20 M Vo W e 2 2 e R P P % %0 % B R 9

PPPPLLLLLLLLLL LSS LSS LSS LSS LSS LSS LSS LS LSS LLLS PSSP PP



\\\\\\\\\\N\\\\N\‘\‘\‘\‘\‘\‘\\‘\‘\\‘\‘\\\\\\\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘V>

MTH202:Grand Quiz Quiz Start Time: 02:13

Question # 27 of 30 ( Start time: 02:19:55 AM. 30 December 2020 )

Let A, B, C be subset of universal set [ then the Idempotent Law is

Select the correct option V m
O E AUA=A

ANA =4
0 %’\/

ANA =¢
O

ANMA=A
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MTH202:Grand Quiz Quiz Start Time: 02:1:

Question # 28 of 30 ( Start time: 02:20:13 AM. 30 December 2020 )

Let A and B be subset of universal set I/ then 4 — (4 — B) =

Select the correct option V u
. 623‘
— ANB
L
O A B
O (4N B)°
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MTH202:Grand Quiz

Question # 29 of 30 ( Start time: 02:20:42 AM. 30 December 2020 )

Let R be a relation on a set A. If R is reflexive then its compliment is

O

Select the correct option V
Reflexive z Q
Irreflexive e
D
b d

Symmetric

Antisymmetric
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MTH202:Grand Quiz

Question # 30 of 30 ( Start time: 02:20:55 AM. 30 December 2020 )

Real valued function is a function that assigns to each member of its domain.

&
X

Select the comect option
negative real number
positive r@%
only a real number
r
b d
any arbitrary real number
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